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Generali Instructions : .;

Read the following instructions very carefully and strictly follow them :

(i) This question paper contains 38 questions. All questzons are
compulsory. : : ‘

(@) This question paper is divided into ﬁve Sectzons ~-A B C D
and E.

(iii) In Section A, Questions no. 1 to 18 are multiple choice questions
(MCQs) and questions -number 19 and 20 are Assertion-Reason
based questions of 1 mark each. \

(iv) In Section B, Questions no. 21 to 25 are very short answer (VSA).
type questions, carrying 2 marks each. | ‘

(v). In Section C, Questions no. 26 to 31 are short answer (SA) type
questions, carrying 3 marks each.

(vt) In Section D, Questions no. 32 to 35 are long answer (LA) type
questions carrying 5§ marks each.

(vii) In Section E, Questions no. 36 to 38 are case study based questions
carrying 4 marks each. : :

(viii) There is no overall choice. However, an internal choice has been
provided in 2 questions in Section B, 2 questions in Section C,

; 2 questions in Section D and 3 questions in Section E.
(ix) Takern= 277% ‘wherever fequiréd if not stated.

(x)  Use of calculators is not allowed.

SECTION A
This section comprzses multiple chozce questzons (MCQS) of 1 mark
each. . _ |
1. If two positive integers x and y are written as x = a3b? and
y = ab3, where a and b are prlme numbers, then thelr HCF

- x,y)is:
(a) ab , (b)) ab?
(c) a3b3 o (d) a2p?

430(B) ; : Page 3of 23 | gy - PTO.
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BaE | o : |
9. 2 wewsd 50 9 20 % WA, (HCF) 9 @.4. (LCM) H1 TH%d

@ 10 g 100
© 1000 | @ 20

3. @WWWHW@WW%W%:
(a) U SAIHA
(b) THEN UREA
(c) qﬁﬁammﬁﬁ'&r
(d) TERM GAICHS

4. asﬁamagqaméssﬁaszamﬁ,%:
(a) x2+5x+46 |
(b) x2-5x—6

.;(C) x2+x—6

d x2-5x+6 ‘

5. %ﬁaesatﬁamgm3x—5y—2=oam-9x+15y-;5=ow
(a) e (AR R
(b)) AETTAR
(© wuifmwd s
@ wEew@TEE
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The product of the HCF and LCM of two numbers 50 and 20
is : :

(a) 10 (b) 100

(© 1000 ‘ @ 20

The product of a non-zero rational number and an irrational
number is : |

(a) always irrational
(b) always rational
(¢) rational or irrational

(d) always positive

A quadratic polynomial whose zeroes are 2 and 3 is :

(@ x2+5x+6

(b) x2-5x-6
(¢ x2+x-6
d x2-5x+6

The pair of linear equations 3x—5y-2=0and-9x+15y-5=0
has : . | |
(a) a unique solution

(b) éxactly two solutions

(c) infinitely many solutions

(d) nosolution

430/B) , : Page 5 of 23 : PTO.
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6. afe orfiehtor 9x2 + 12x + k= 0 & ol THM &, T GH1 o ST 3

(a) -g—
» -2
(0 g— .
@ -3

7. Rig@ P @A
(a) 3 \ b)) -3
@ o5 @ 5

8. R (3 a) ﬁgaﬁ P(-5, 7) 7 -1, 5)@&;@1%{@%@@03&
nwﬁg% W AHAAR |
(a) 1 | (b) 6
© 12 | @ -3

9. awﬁgﬁ%mm%mw%m%mﬁqﬁﬁm
a?r@wﬁwré&m% Fﬁ@iﬁ‘g’&tﬁwwﬁa‘m‘é%
(a) 10cm
(b)‘ 8 cm
(c) 16cm
(d) 5cm
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6. Iftheequation 9x2 + 12x +k =0 has equal roots then both the
roots are equal to :

(a) %
VV(.b)' -—-g
(c) g
@ -3

7. The d1stance of the point (3 5) from X-axis is :
@ 3 ., . B 3 |
© <5 @ 5 | |

8. If(- 3, a)is the mid-point of the lme segment joining the pomts
P(- 5, 7) and Q(-1, 5), then the Value of ‘a’is :

(a) 1 - - (b) 6
¢ 12 . ) -3

9. The perimeters of two similar triangles are 28 bm and 35 cm
respectively. If one side of the first triangle is 8 ¢cm, then the

corresponding side of the second triangle is :

(a) 10cm
(b) 8cm
() 16cm
(d 5cm
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10.

11.

12.

13.

»(a)'

- (o)

EieE

Eﬁﬁ V
ﬂﬁﬁ@ABCWPQRﬁ /B=,/Q /R=./CqaW AB =2PQ
%aﬁaﬁﬁrgé Y

(a) W%Wm?ﬁ%

(b) TTEY § W GatEE T 8

() @ TalE 3 T & wwe @

@ aﬁmww%

aﬁwmaﬁa@@%tﬁnﬁ% a‘ragwmagﬁa%
() THE
(b) T 3

(c) @W@ﬁ?
(d) T guas

Ife tanQ:% %, @ cos GEBTHH% :
. , (b)

(d)

=3! 00 cnlo;
3| ol

e 2 sinA:coSecA%,?ﬁ L ASTRR :

(@ 30° o (b) 60°

(c) 45° | (d) 90°
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10. If in triangles ABC and PQR, /B = 2Q, ZR = ZC and
AB = 2PQ, then the two triangles are :

(a) congruent but not similar
(b) similar but not congruent
(c) neither congruent nor similar

(d) = congruent as well as similar

11. If éy parallelogram circumscribes a circle, then the

 parallelogramisa:
(a) square

(b rectanglé
(c) rhombus

(d) trapezium
12. If tan@= —i—«, then the value of cos 0 is:

(a) )

=J|leo onjw

©) @

SN ST

13. If 2sin A = cosec A, then £ A is equal to :
(@ 30° ) 60°
(¢) 45° . (d) 90°

430(B)  Page 90f 23 P.TO.



14. afs T R % e F, @ e ¥ 75 m # 20 w fBm fig ®

© 253 m @ BBa
15. a&ﬁaﬁaqﬁaﬁﬁw& 15 m @ 13 m T, ﬁrq&wﬁamf
'~ (circulating ring) S &% (et o, ®) B

(a) 176 (b) 178
(c) 180 ‘ @ 200

16. 19 2oaas-ﬁa@rzﬁﬁﬁm§e®mwa@r§7ﬁné l’g'a‘hréa@m
%mm@ﬁaﬁmﬁw%

, 7 : 3
1 92 o

17. aﬁwmaﬂ%aﬁ1 9, 10— 18, 19 - 27, . . zente &,
aﬁeﬂm%:

(@ 8 | b 9

o 10 @ 7
18. aﬁwmmwmmamawmz%amm%,aﬁ
T AT © |
@ 235 b 24

(© 245 | @ 275
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14, If the angle of elevation of the top of a tower from a point at a
distance of 75 m from its foot is 60°, then the height of the

tower is : /
(@ 752 m (b)) 50+V3m

© 253m @ 75v3 m

15. If the radii of two concentric circles are 15 m and 13 m, then

the area of the circulating ring (in sq. m) is :
(a) 176 (b 178
(¢) 180 : (d) 200

~16. A number is éhoseh at random from numbérs 1 to 20. The
~ probability that it is a prime number, is: |

i o
(a) E(—)— (b) 10
1 2

17. If the classes of a frequency distribution are 1 — 9, 10 . 18,
19 — 27, ... etc., then the class size is : |

(a) 8 | (b) 9
() 10 ' . 7

18. If the median and mode of a frequency distribution are 26 and
29 respectively, then the mean is :

(a) 235 (b) 24
(c) 245 (d 275

430(B) . Pagellof23 . 7?0
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19. e (A) : ,,14émﬁ?mam90°éﬁﬁ,aﬁwaréﬁésm;
| 1 &5 154 cm? @ |

7% (R) : Wrﬁ%%’sﬁ?ﬁ“@ﬁl@ﬂﬁ%ﬁ@@“’éﬁv
| g |
20. A (A) - W_WGlE&cmzH@Tﬁ@GﬂWTcm%l ‘
TFR: e ¢ AT T T gE A 4nr? R |

' wEE
| ysy@vgﬁsﬁ%'ag-swﬁa(VSA)W%Wé forrdl 5 2 B E
21. f@ﬁm&mﬁmﬁmm'%amm 25% |

22. 30mv$~srr§awﬁé@@@ﬁ}ﬁ{&mqsz@maﬁéﬁéi5m%t'
‘ﬁm@w&r%@mq@rﬁmﬁéﬁémm%lw'ﬁ
S m ARl | | ‘
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 labelled Assertion (A) and the other labelled Reason (R). Select the

B
B ;

‘Questions number 19 and 20 are Assertion and Reason based
- questions carrying 1 mark each. Two statements are given, one

correct answer from the codes (a), (b), (c) and (d) as given below.

(a) Both Assertion (A) and Reason (R) are true and
' Reason (R) is the correct explanation of the Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R)
is noot the correct explanation of the Assertion (A).

(c) Assertion (A) is true and Reason (R) is false.
(d) Assertion (A)is false and Reason (R) is true.

19. Assertion (A): The area of the sector of a circle ‘of radius
14 cm and central angle 90° is 154 cm?.

Reason (R):  The area of the sector of a circle of radius r and

< )
tral angle 0 is nr2 ——.
central angle 0 15 Ly

20. Assertion (A): The diameter of a sphere, whose surface area
. e is 616 cm?, is 7 cm. :

Reason (R): The surface area of a sphere of radius r is 4nr?2.

SECTION B

This section comprises very short answer (VSA) type Questions of
2 marks each. ’ ' ‘

21. Find two numbers whose sum is 75 and the differenceis 25.

22. A vertical pole 30 m high casts a shadow 15 m long on the
ground. At the same time, a tower casts a shadow 70 m long on.
the gjround. Find the height of the tower. | o
- 430(B) k Page 13 of 23 o PTO.
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23, %W%aﬁwaﬁﬁa@—ﬁfﬁeﬁmeﬁ@%qﬁaﬁwﬁ
Ul ¢, Toet forg v gl Bl | ’ |

24. () 18cmﬁwéa§ﬂﬁ®%mﬁaaé 10ncm% | 39 =™
mqa%%ammﬁa%ﬁmﬁmmwi

g

(@) e ¥4 % URT H W 140 em B | 66 km/h 1 =&l T S
ng%q%qgm@ﬁqzﬁwmwa%ﬁﬁmm‘
HRT | "

- 25. (F) aﬁ,tan@:,g- %,?ﬁm':naﬁf\at:

(1—sin®) (1 +sin 0)
(1 — cos 0) (1 + cos Q)

A

(@) @Wﬁﬁamcﬁmzcm% # af tan A= V3
% ?ﬁsmAcosB+cosAs1nBWﬁH3W7ﬁﬁle '

@ T ,
w@wﬁagaﬁﬁa(SA)W%wv? ﬁr#m%3 HE |

26. asﬁs*q%5+zfq¢awﬁﬁam% ﬁmw%ﬁs\/’q%
ATTE 96 B | |

"27 feama sgUg x2 —5x—6%wam@%rqamsqsﬁaﬁm
W%W%m&twﬁmaﬁﬁml
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23. Prove that in two concentric éircles, the chord of the larger
circle, which touches the smaller circle, is bisected at the point
of contact. :

24. (a) The length of an arcof a cifcle of radius 18 ecm is 10w ém.
Find the angle subtended by this arc at the centre of the
circle. |

OR

(b) The diaméter of a wheel of a bus is 140 cm. Fi‘nd the
number of revolutions the wheel will make in one minute
to keep the speed of the bus at 66 km/h.

25, (a) If tan@= —3—, evaluate :
. (1-sin®)(@+sind)
(1 —cos 0) (1 + cos 6)
OR ‘

(b) In a right-angled triangle ABC, right angled at C, if
tan A = +/3, evaluate sin A cos B + cos A sin B.

SECTION C

This section comprises short answer (SA) type questions of 3 marks
each. - i

26. Show that 5 + 2+/3 is an irrational number, given that J3 is

an irrational number.

27. Find the zeroes of the quadratic polynomial x2 — bx — 6 and
verify the relationship between the zeroes and the coefficients.

420(B) . Page 15 of 23 | . pTO.




28.

29.

30.

31.

E¥E

B
($) ﬁmﬁ%ﬁ%@mmwﬁwﬁm

8x+5y=9; 3X+2y 4

e :

(@) awﬁﬁaﬁ‘%mﬁg 7 1 I B eIfh T FA W AW
4: 3%\@%@%3&%%2000@&1% T Tl 8, a
maﬁ%mmaﬁrﬁm

(%) T 39 =qis ABCD & 7t S ‘gmaﬁ@wsfm% | g

W%AB+CD BC + AD.

HAIAT

(@) %@W%ﬁ?@ﬁgﬁ%%ﬁ@ﬁa{m%%ﬁm@aﬁﬂé
Tl Y. TR EH B g | (

%@W@

~ (cosec A —sin A) {sec A —cos A) (tan A+cotA)=

2 U = T A IeTE T | g T W A sem rﬂ:ﬁmsa
1091 10 ® %a B A IR T i | |

'@'UE‘ET

WW#WW?WKIA)W%W? ﬁ?ﬁméﬁ W?/

(F) Qaﬁmé‘raﬁé;qmgqawaﬁm]n%ammum
24@@2&111%996% |3€rwa?$raﬁ'em20‘q'rqasrra
HITT |

AT

(@) o FT ST S 3 R § 6 e % it e wm g ®

T T ATES 154 7 IWWWI
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28. (a) Solve the following pair of linear equations :
8x+5y=9; 3x+2y=4
OR |

(b) The ratio of incomes of two pefsons is 9 : 7 and the ratio

of their expenditures is 4 : 3. If each of them saves
T 2 OOO yearly, find their annual incomes.

29, (a) A c1rcle touches all the four sides of a quadrllateral
ABCD. Prove that AB + CD = BC + AD.

OR

(b) Prove that the tangents drawn to a circle at the end
points of a diameter are parallel to each other.

30. Prove that: |
(cosec A—sin A) (sec A—cos A) (tan A + cot A) =1

81. Two dice are thrown siniultanebusly. Find the probability that
~ the sum of the two numbers appearing on the top of the two
dice is less than or equal to 10.

SECTION D

This section comprises long answer (LA) type questions of 5 marks
each. :

32. (a) The sum of first 9 terms of an AP is 171 and the sum of
* its first 24 terms is 996. Find the 20th term of the AP.

OR

(b) Three consecutive natural numbers are such that the
sum of the square of the first and the product of the other
two is 154. Find the numbers.

430(B) | Page 17 of 23 . PTO.
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3. af2 freht Frue 1 o o & TR w1 2wl A PP g
- W yfrese W % fore wh W dish S, d fiag A R 3 e
e T € e i e @ o # |

34, (%) s & QEB 3%, T Tehg Jal gra PR Ied ‘2’5 TAR | 9™
qon SiaRen et b it s 616 m A 528 m ¥ | T I
1 <ers qu SeThel W HINT | |
(@) T S e, T A W A SegTia W% % RN
W R | QHI % YR H AW 14 cm ® T GF H SR
24 cm % | Rael 1 S0l gt &he T ARG T IR |

35. ﬁﬁ@wa@mﬁﬁq:

&7
0-20 | 15
20 — 40 | 18
40 60 | 91
60-80 29
80 — 100 17 \
o o & 5 3 e e 53 8, A ST T (empirical

formula) % TN ¥ WIS 1A TmpfﬁfQ |
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83. If a line is drawn parallel to one side of a triangle to intersect
the other two sides in distinct points, prove that the other two

sides are divided in the same ratio.

34. (a) A race track is in the form of a ring enclosed by two

concentri¢ circles. The outer and inner circumferences
are 616 m and 528 m respectively. Find the width and
the area of the track. :

OR

~ (b) A solid toy is in the form of a hemisphere surmounted by
a right circular cone, the diameter of both is 14 cm and
the height of cone is 24 cm. Find the total surface area
and the volume of the toy. | ‘

~ 35. Find the mode of the following distribution :

Marks Number of
Obtained  Students
0-20 15
20 — 40 18
40-60 21
60 — 80 29
s 10 | 17

Given the mean of the above distribution is 53, using empirical
formula, find its median.

430(B) : Page 19 of 23 » ‘ ” P.T.0.
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36. wmﬁmwﬁﬁw@m%waa&@ﬁfﬁamﬁ%
| mmm%twﬁmﬁﬁ%ﬁéaﬁﬁwooomﬁwﬁﬁm
ganammaéaéﬁmoooomwﬁﬁwgan
feh 3 anam W, FreRiRes T 3 s A

(%) uew a¥ #§ Rftl R A Fen A a > gor R fafese o= @
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() Waaﬁwﬁ%wﬁ‘a’mﬁm |

: 31'213T |
() m@aamﬁ%ma‘d’maﬁm| |
THIOT LTI - 2

37. 5m St TH FHR F RER R TH 9IS @0 AR | T F &
%gé,mm%&wmwaﬁmﬁwéwrﬁw%ﬁf@m
3 BV 45° ¢ | A
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SECTION E

This section compi'ises 3 case study based questions of 4 marks each.
- Case Study -1

36. A factory s ‘manufacturing cars and is increasing its
production by a fixed number every year. The factory produced
80,000 cars in the fourth year and 1,10,000 cars in the seventh
year.

‘Based on the above, answer the following questioris :
(a) Taking ‘@’ as the number of cars ‘produced"in the first ~
year and ‘d’ the fixed number by which the production is

increasing every year, write a relation between ‘a’ and ‘d”
for the fourth year. | , ' 1

(b) Write the relation between ‘a’ and ‘d’ for the seventh year. I

(c) Solving the above two equations, find ‘a’. ' | 2
| OR
(¢) Solving the above two equations, find ‘d’. 2

Casé Study - 2

37. A flagstaff stands on the top ofa5m high tower. From a point
on the ground, the angle of elevation of the top of the flagstaff
is 60° and from the same point the angle of elevation of the top
of tower is 45°. |

430(B) , , Page 21 of 23 PT.0.




I % R R, Fefafed s % s i |
(%) migeRtmEm SRRy

(=) Wﬁ?ﬁéw%?

() Er%geh 3 lqgmﬁm%ﬁ@wmaﬁw 30°% Q-

%gﬁrﬁméamﬁaﬁama?rﬁm
arorant

() W%ﬁ@ﬁgwqﬁﬁgmmrﬁm%ﬁ@twm
T 30° &, %aﬁa?ﬁaﬁmaﬁﬁm :

mmax%m 3

38 @agﬁaABCDassﬁﬁa%ﬁésnmA(g _1), B4, 4), C(~1, 3) T
D-2,-2) % széﬁﬁﬁa;%‘lﬁﬁq’s’%&xwiiﬂﬂgg\ﬂ% =
BIGACAIE U

(%) AB 7= CD i wessal 3ma IR |

@) 'BCaaTADsﬁmsﬁm?ﬁ%rm,
(1) AC @ BD i wwsrsat 9 BT |
.

A(Tr) 'AC%MT BD%nw-ﬁgaﬁaﬁTﬁrQ l
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Based on the above, answer the following questions :

(a) What is the distance of the point from the foot of the
| tower ?

(b) Whatis the height of the flagstaff ?

(¢ If at some other point, the top of tower’s angle of
‘ elevation is 30°, then find the distance of thls new point
from the foot of the tower.

OR

(c) Find the distance between the top of the tower and the
point at which the angle of elevation of the top of tower is
30°. |

Case Study -3

38. The coordinates of the vertices of a quadrilateral ‘ABCD ai'e
given as A(3, - 1), B4, 4), C(-1, 3) and D(- 2, — 2). Find the .
following to know what type of quadrilateral itis: ’

(a) Find the rlengthgyof AB and CD.

(b) Find the lengths of BC and AD.
(@ Find the lengths of AC and BD.
| , =

() Find the mid points of AC snd BD.
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